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More Practice for sections 6.1 — 6.6

For numbers 1 — 6, determine the amplitude, period, frequency, phase shift, and vertical
translation for each. Describe the transformations required to obtain the trig function starting
from the parent function.

-~ - A\ i -
1.2sin3x RAwp=d Pev= 3 P3.4V3=0 2. y=—sin(x — ) F\\[\k_p =\ Per=21\
PS.= = T VSO
LS
— il
3 i) 21 m| O
37Ty —
2
2TV - 27 O
3.y=3cos4x Amp=% Per = q= le._, 4. yzgsin(;x_g_“_ . \O
f . g
NS./ps,= © AMp=3 P =3 v5=3 ‘o520
5.y =-35sin2x—2) — 1 6 = Bee bt Panaed VSFT
-V . . 2T .y . =

hnp=23,5 vs=-\ per=2 =M Pev = 4, = 4w
. Ya — W

] : ’ l--

p%' :_'yg_. = -H;{Z 2 = T/E{,

Ps,= O



For numbers 7 — 10, sketch the graph of each function for one period.
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11. Find an equation for a sine function that has an amplitude of 4, a period of 180°, and a y-
intercept of —3. e , O gy
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12. Find an equation for a cosine function that has an amplitude of % a period of 270°, and a
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For numbers 13-16, identify the amplitude and period of each function graphed below. Then
write an equation of each graph.
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17. The average depth of water at the end of a dox dock 1s 6 5 feet. This varies 2 feet in both directions
with the tide. Suppose there is a hi tide at 4 AM. If the tide g goes from low to high every 6
hours, write a cosine function d(t) desctibing the depth of the water as a function of time with t =
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18. The depth of water at a boat dock varies with the tides. The depth is 5 feet at low }tide and 13
Ify

feet at high tide. On a certain day, low tide occurs at 4 ‘am/and high tide occurs at 10a
represents the depth of the water x hours after mldn\fg“ﬁﬁlse Q function to model the water’s

depth.
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function /(r)=16 COS( ]+ 18. where 7is the time. in seconds.
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1. What is the radius of the Ferris Wheel? : )
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II. What is the maxinmm height of the car? o
(A)I8m  (B)26m (C)16m  (D)17m

III. How long does it take for the wlheel to make one rev rolution?
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V. How fast does the wheel rotate?
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20. The average monthly temperatures in degrees Fahrenheit for the city of Las Vegas are
given below.
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57°f} 63°f | 70°f | 79°f | 88°f | 100°f | 106°f/| 102°f | 95°f | 82°f | 66°f | 57°f
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a. Write a sinusoidal function that models the monthly temperatures, using t = 1 to represent
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b. According to your model, what is the average monthly temperature in August? How
does this compare to the actual average temperature? 7 o
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21.A buoy, bobbing up and down in the water as waves move past it, moves from its highest
point to its lowest point and back to its highest point every 10 seconds. The distance

between its h1ghest arg l_o_yvest point is 3_f¢¢t. per o = 1O
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22. If the equilibrium point is y = 0, then y = —5 cos %x models a buoy bobbing up and
down in the water.

a. Where is the buoyatt = 0?7 Att =17

tzo -5 t=] -3

b. What is the maximum height of the buoy? The minimum?

5 -5

c. What is the period? 2, 297 oy — f 2,
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20. ROLLER COASTER Part of a roller coaster track is a sinusoidal function. The high
and low points are separated by 150 feet horizontally and 82 feet vertically as shown. The
low point is 6 feet above the ground.

82 ft

a. Write a sinusoidal function that models the distance the roller coaster track is
above the ground at a given horizontal distance x.
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b. Point 4 is 40 feet to the right of the y-axis. How far above the ground is the track
at point A?
t=do
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